T&T6 5.1 Compound Interest January 30, 2014

7. Kamil asks for interest to be added half-yearly to his account.
If the bank offers an AER of 4%, find, correct to four significant figures, the equivalent

half-yearly rate.
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12, €50000 is invested in a bank offering an AER of 3.5%.

How long will it take this investment to double in value?
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T&T6 5.1 Compound Interest January 30, 2014

14. Using (a) trial and error and (b) logs, find how many years it will take €1130 to have a
future value of €3000 if invested at 5% per anawm compound interest.
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